Example analysis
[image: ][bookmark: _GoBack]Your written response to Task 4 should comment on the use of language and sentence structures. You have done the hard work by highlighting these, therefore quote these and explain their effect. You can use the QWERTY structure to help you formulate you response.

Example:
Arthur Conan Doyle uses a range of sentences for effect, to both engage and build atmosphere in this climatic chapter and therefore causes the reader to empathise with the actions of Sherlock, Watson and Lestrade.
For example the texts at the starts with Watson asking Lestrade if he is armed. ‘Are you armed, Lestrade?’
Here the simple sentence highlights Watson matter of fact tone, and therefore the question is blunt and to the point. Here Dolye is seeking to heighten the tension of the chapter and his use of ‘armed’ give the reader a sense of impending doom. This is extremely effective in the narrative, as it allows the reader to think about what might happen.
Speech only used as necessary. Entire story is through a balance of these. Here Watson asks is Lestrade armed. His response is yes, therefore it is to the point and relevant to the plot.
Writing focuses on detail of the situation, therefore writing is detailed and captures each moment. Relates emotions and narrative to the reader. 
Language highlights the characteristics of Sherlock . Language sophisticated and slightly archaic. Victorian language. 
Long subordinate clause. Clarifies and adds detail to the main clause.  Reader understands the point.
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